EARAROBEEIERT — 2 N— IBISH —F

2019527178 (B) 1EBVM\E4H

m#3%4ﬁi 500AT (GE®) E= ‘ (X4&] # ‘ [Emsml  — |2 (&) 18000 &
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 . S # o5 | FRHER 1:47.5 1-1-1-1 | 36.9| 96.1 | 4 510 | HEEERI (£H)
1]7]12| ¥ T RNXA—F— 57.0 [l 6) ") #5390y K957 5747
LTANNTTFY— B:v1xhF EvJILy RT77—L4
= = o4 | JIIEREHE 1:47.9 8-8-7-5 [36.3| 91.9 | 2 470 |BE—5 (BR)
o117 7vT7 7 - 56.0 @ 1/2) o | B GrL-v>y
R4 TATv— BTAR9I7—0 (A) #AI—-FKL—>a>@AET 7
- NPy it 6 | SHEEA 1:48. 14-13-14-13{ 35.9 | 90.7 | 11 428 | EHESE (BR)
P3| AT IxXTHL B0 (76) U | T e x-x
SZRFAOd-I R BTy —A— HE77—L4
. = LR E : —6-7- SREE (EH)
4 @Y1 LNT15Y k 5 Wi 1(.14/82.)1 7-6-7-10 | 36.6 | 90.1 | 8 (4:320) (mﬁ'ﬂ‘/
RZRFAT—I K B:aAYIAYT1T AXET21-T7—L4
5 . # 5 | BB 1:48.3 2-2-2-2 |37.5| 88.8| 5 478 | ERIBEE ()
5@ 10| A7 =T/ — k> 57.0 A 1/4) 46) | ) NICKs
L= —=29 7 BryvibnNd— TADAS
R R 5| HfE— . 1011 afREER (ER)
6 S aF LY H 6 L 1(748t)3 10-10-11-10| 36.5 | 88.1 | 3 (i:; i
LixAoavHLyy B:yavtrraq1Us KALism
SR o4 | ZHE 1:48.4 5-5-3-3 | 37.3| 87.7 | 1 462 | EFIME— (EH)
7 Ly RJ7— 54.0 (1/2) (c12) | R ERA-ZL-—2y
R:F4—TA4>N7 b B:Ly RT7r—U> HET7—L
e . HchpE : 10-11- BE (E%
8 ®O— K1y 24 [B) > 5| B 1(/:\1{;;1 10-10-11-10| 36.6 | 87.2 | 7 (4320) zs(;) A 2o
R:w>Nya>hT7r B:INFTT MO TATAT7—1L
. > E-LIUN 148. -3-6- . . B (ER
N : ESLELVEA Rl - S R il el A B v
REATAT v — BT Al UN— =¥ Tr— L
S5 i 4 | AEDHE 1:48.7 2-3-7-8 |37.2| 847 | 9 408 | TEIRER (Ei#)
10 V-77773kE %53.0 (1 1/4) 4y | @R FITLYEIST - 5T4T
R:2F4d—I K BE/TF> EvJLy RIT7—L
= 4 | BEEKIE 1:49.0 10-10-3-6 | 37.8 | 82.4 | 13 468 | BIEHEE (EH)
11PN 7 | ARETZ bFR g 5.0 @ ) (B) EviLy KT7—LA
STANWNTTFH— BRAXHAXAT EvJLy RT7—L4
S # 5 | 2Lt 1:49.1 8-8-7-8 |37.6| 81.3 | 15 460 | RERA (EH)
12 5|/¥7F 4 5.0 (7) (12 | ) EvTLy ETr—4
vy USFddyk BRAZXTIVF2—Ib EviLy RTr—L
. 5 | AR 1:49.6 56-3-3 [38.4| 77.6 | 6 | 43 |AABREE (FER)
13lgli5| VI vO—a e 5.0 3 v | @ Ev0e b Ty — i
RAFAT—E BILA T =Ty — (B) #HEa—KL—a>AETr
S = 4 4 | ERE 1:49.8 15-15-15-15| 37.5 | 74.5 | 10 | 446 |HFIFEZE (E=)
14713 &7 1727 54.0 (1 1/2) o | W) ESHTY—s-x 224
L:F=TA NI N B:A4F40-X KEHS
. FEF I —BR : -13-11- EBR (FH)
155/ 9| ®27 2181 i o4 o 1.(510>.o 13-13-11-13| 38.2 | 73.7 | 14 12(5),;3 /J\EEt}J’E(—
-T2 TUL BiEAL AAHHIS
@ 21 L
£ 48.5-36.9
NA>&A L | 12.3-11.3-12.2-11.9-11.3-11.6-11.6-12.1-13.2
® 1—F—@EBIERL
13=3F= 12(10,14)4(8,15)1(5,11) (2,6,7)9,3,13
23—+ — 12,10(4,14)8(1,15) (5,11) (2,6,7) (3,9)-13
Jo=5r= 12,10-(8,15,7)4(1,5,14,11) (2,6,9)3,13
40—F— 12,10-(8,15)11(4,7) (5,14) (1,2,6) (3,9)-13
[ N5
= 12 770MH 714K 11-12 690F e E 6-7 1,1208 JEE 3-11-12 22,990/
# B 12 240M 3-12 3,810 B = 11-12 2,220 JEH 12-11-3 116,660M
1" 170 3-11 2,980 B H 12-11 5,150M
8 920H

ABICOVWTRDTEEERROODE. TR LIV,




